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101|R#A7 L 383 71 312| Keg |EE 1,620 162| L 3,240 216
102|357 L 1,787 1,787| Kg BIE 1,566 532
111|&EEF £ 516 516 Kg BRE - &4 1,728 432
113|RAV S 12 5 7| Ke |EE 1,944 486|=E 3,564 1,944
114|B5EFE 170 170| Kg BIE - BE 2,754 2,000
15[ 1= 3 3 Kg |EfE 1,188 =0 650

117[1E 653 343 310 Kg |EE 1,404 54| 3,672 540
121|rblE &€ 29 20 9 Kg |ERE 1,080 540| & 1,296 325
134[#= = 745 484 261| Kg |EE 1,944 1,000| & 2,592 1,296
140(5 I 16 16| Kg I35 159,840 29,700
147|E2 O 85 85| Kg |EE 14,036 9,500| =& - £ 16,200 5,500
168|BIEH AL H 337 337| Kg EIE 2,214 1,296
201|{Lb L 526 526| Kg e - & 1,512 400
203|/hé L 164 164| Kg =5 486 324
205|585 L 128 128 Kg KI5 540 432
206| = 1F 290 290| Kg =5 529 216
207| = AE 16 16| Kg sl 1,161

208| Mo % 407 407|  Kg 5F 1,080 346
2094 B & LA 184 184| Kg s 972 540
210{1F AL 576 508 68| Kg [O 4,590 1,431|ii0 3,510 2,268
212|&5E.3 Y 208 208| Kg =40 2,106 1,150
222|052 252 252| Kg 4 432 180
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252|LWAEXECA 73 73 Kg |##FE 3,348

254|EDT2ELCAH 705 705 Kg GBI 2,171 1,166
303[A 27z 6 6] Kg FE 1,080
305|xAah>0b 98 18 80| Kg [&/I 2,916 2,592|&)I 3,132 3,024
306|Le &Y 10 10| Kg Rl 972 648
315|7: b5 6 49 491 Kg ) 3,888 405
3191 h o 200 200 Kg REB 1,100

3321 WA =EF 122 122 Kg i 2,052 1,944
3BlHHY 44 1 43| Kg |#®S 2,160 w5 9,720 3,672
3541 <Y 58 20 38| Kg |TFE 1,620 1,296|F % 2,322 1,404
3/5|HEY 115 115 Kg A - PE 1,728 600
356|L L& 35 35 Kg SHR 1,512 972
3577/~ E 15 15| Kg FEE 3,888 1,080
358| KB 20 20 Kg A0 2,700 1,620
362(m & 10 10| Kg FE 1,320 900
401|H W 47 5 42 Kg |EE 1,620 Iz B2 2,160 1,728
4025 E 30 30 Kg FAN 5,724 5,184
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512| A& AL 66 66| Kg b 1,450 1,200
523| A EARAT 2 O 57 57| Kg =] 3,024 1,296
54| ARE & 2V 50 50| Kg =] 1,890
Bh4| X IE BWA AR 130 130| Kg b 950 820
558| 40 40| Kg b 1,296 972
560|487 2 100 100[ Kg =] 2,680 850
566|4R A < 10 10| Kg b 4,000
57648 & 1F 140 140 Kg =] 3,456
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70110 BA 6,540 3,383 3,157| Kg |EE 2,000 915| &= 2,268 1,080
71019 2 ®HA0F 97 971 Kg Ko 3,132 1,260
54T AE 5 5 Keg EE 1,588
755(Fd L 429 4291 Kg E=AES 771 728
56| £ 9 5 5] Kg RIE 1,588
7611 b BHAEL 6 6] Kg & 2,121
801|BHL =T 648 648| Kg ¥ - A 1,728 1,188
802 1 30 301 Kg 2yl 1,912 1,242
805 = 1E 266 266| Kg FiE 821 702
810|BAKTF 189 189 Kg JbiF 2,160 1,728
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